
SAP ABAP table ROIO_SP_TREE {Fields for packing tree}

ROIO_SP_TREE

MATNR [CHAR (18)]

KUNNR [CHAR (10)]

CNTNR_TYP_CD [CHAR (2)]

OWNER [CHAR (10)]

TP_OWNER [CHAR (10)]

FOOTPRINT_UN [UNIT (3)]

WEIGHT_UN [UNIT (3)]

SAFE_LOAD_UN [UNIT (3)]

MAX_WEIGHT_UN [UNIT (3)]

VSTEL [CHAR (4)]

VKORG [CHAR (4)]

LFART [CHAR (4)]

LIFSK [CHAR (2)]

KUNAG [CHAR (10)]

LSTEL [CHAR (2)]

TRAGR [CHAR (4)]

LGNUM [CHAR (3)]

TRSPG [CHAR (2)]

POSNR [NUMC (6)]

PSTYV [CHAR (4)]

LGTYP [CHAR (3)]

LGPLA [CHAR (10)]

VKBUR [CHAR (4)]

VKGRP [CHAR (3)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

SOBKZ [CHAR (1)]

SHTYP [CHAR (4)]

TPLST [CHAR (4)]

VSART [CHAR (2)]

VSBED [CHAR (2)]

ROUTE [CHAR (6)]

TDLNR [CHAR (10)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 ROIO_SP_TREE-KUNAG = KNA1-KUNNR 

0..N

{0,1}

LAGP

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LGTYP [CHAR (3)]

LGPLA [CHAR (10)]

 ROIO_SP_TREE-LGPLA = LAGP-LGPLA 

0..N

{0,1}

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 ROIO_SP_TREE-OWNER = LFA1-LIFNR 

0..N

0..N

 ROIO_SP_TREE-TDLNR = LFA1-LIFNR 0..N

1

 ROIO_SP_TREE-TP_OWNER = LFA1-LIFNR 

0..N

0..N

OIO_CNTNR_TYP

MANDT [CLNT (3)]

CNTNR_TYP_CD [CHAR (2)] ROIO_SP_TREE-CNTNR_TYP_CD = OIO_CNTNR_TYP-CNTNR_TYP_CD 0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ROIO_SP_TREE-FOOTPRINT_UN = T006-MSEHI 
0..N

0..N

 ROIO_SP_TREE-MAX_WEIGHT_UN = T006-MSEHI 0..N

{0,1}

 ROIO_SP_TREE-SAFE_LOAD_UN = T006-MSEHI 

0..N

0..N

 ROIO_SP_TREE-WEIGHT_UN = T006-MSEHI 

0..N

0..N

T148

MANDT [CLNT (3)]

SOBKZ [CHAR (1)]

 ROIO_SP_TREE-SOBKZ = T148-SOBKZ 

0..N

{0,1}

T173

MANDT [CLNT (3)]

VSART [CHAR (2)] ROIO_SP_TREE-VSART = T173-VSART 0..N

{0,1}

T300

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

 ROIO_SP_TREE-LGNUM = T300-LGNUM 
0..N

{0,1}

T301

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LGTYP [CHAR (3)]

 ROIO_SP_TREE-LGTYP = T301-LGTYP 
0..N

{0,1}

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]
 ROIO_SP_TREE-SPART = TSPA-SPART 0..N

{0,1}
TTDS

MANDT [CLNT (3)]

TPLST [CHAR (4)]

 ROIO_SP_TREE-TPLST = TTDS-TPLST 
0..N1

TTGR

MANDT [CLNT (3)]

TRAGR [CHAR (4)]

 ROIO_SP_TREE-TRAGR = TTGR-TRAGR 

0..N

{0,1}

TTSG

MANDT [CLNT (3)]

TRSPG [CHAR (2)]

 ROIO_SP_TREE-TRSPG = TTSG-TRSPG 

0..N

{0,1}

TVBUR

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

 ROIO_SP_TREE-VKBUR = TVBUR-VKBUR 

0..N

{0,1}

TVKGR

MANDT [CLNT (3)]

VKGRP [CHAR (3)]

 ROIO_SP_TREE-VKGRP = TVKGR-VKGRP 

0..N

{0,1}

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 ROIO_SP_TREE-VKORG = TVKO-VKORG 

0..N

{0,1}

TVLA

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

LSTEL [CHAR (2)]

 ROIO_SP_TREE-LSTEL = TVLA-LSTEL 

0..N

{0,1}

TVLK

MANDT [CLNT (3)]

LFART [CHAR (4)]

 ROIO_SP_TREE-LFART = TVLK-LFART 

0..N

{0,1}

TVLS

MANDT [CLNT (3)]

LIFSP [CHAR (2)]

 ROIO_SP_TREE-LIFSK = TVLS-LIFSP 

0..N

{0,1}

TVPT

MANDT [CLNT (3)]

PSTYV [CHAR (4)]

 ROIO_SP_TREE-PSTYV = TVPT-PSTYV 

0..N

1

TVRO

MANDT [CLNT (3)]

ROUTE [CHAR (6)]

 ROIO_SP_TREE-ROUTE = TVRO-ROUTE 

0..N

{0,1}

TVSB

MANDT [CLNT (3)]

VSBED [CHAR (2)]

 ROIO_SP_TREE-VSBED = TVSB-VSBED 

0..N

{0,1}

TVST

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

 ROIO_SP_TREE-VSTEL = TVST-VSTEL 

0..N

1

TVTK

MANDT [CLNT (3)]

SHTYP [CHAR (4)]

 ROIO_SP_TREE-SHTYP = TVTK-SHTYP 

0..N

1

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 ROIO_SP_TREE-VTWEG = TVTW-VTWEG 

0..N

{0,1}

VBUP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 ROIO_SP_TREE-POSNR = VBUP-POSNR 

{0,1}

1


